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(1) 3�2 = 6 23

�23 = 23+3 = 23 � 2 = 26

(1) (2) 100
3�100 = 300  
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128kg 27 = 128 7
7 �42 =294  

 
CD web

 
 

(bit) (Byte)
 

 
1 Byte( ) = 8 bits ( )    
 
      
1 kByte = 1024 Byte  k = 210  = 1024 
1 MByte = 1048576 Byte  M = 220  = 1048576 
1 GByte = 1073741824 Byte  G = 230  = 1073741824 
1 TByte = 1099511627776 Byte  T = 240  = 1099511627776 
 

1000=103 1024 = 210  
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1.  (2 ) 
1.1 N  

10 0 9
2 0 1 2

1 2  
N N N

(0, 1, 2, 3, , N-1)  
 

   
2  2 0, 1 
8  8 0, 1, 2, 3, 4, 5, 6, 7 
10  10 0, 1, 2, 3, 4, 5, 6, 7, 8, 9 
16  16 0, 1, 2, 3, 4, 5, 6, 7, 8, 9, A, B, C, D, E, F 
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2 ? 10 2
? ( P.11)  
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( ) 210 )10011(19 =  (9) 
 
( ) ( )210 111111010012003 =  (10) 

 
 


